
JP Maths Revision 

 
 

1. Solve the following simultaneous equations  

 

 𝑦 = 𝑥2 + 8𝑥 + 17 
  𝑦 =  13𝑥 + 31

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

          …………… 𝑥 =
 

          …………… 𝑦 =
 

(5 marks) 

______________________________________________________________________________ 

✗2+8×1-17=13 set 31

✗ 2- Sae - 14=0

( x - 7) ( ✗ + 2) = 0

✗ = 7
,
✗ = -2

When ✗ = 7 when x = -2

y = 1317 ) -131 y = 13C-2)+31
= 91+31

= 122

= -26+31

= 5

= ( 7,122 )

( -2 , 5)I

7- or -2

122 or 5
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2. Solve the following simultaneous equations  

 

 𝑥2 + 𝑦2 = 10 
 𝑦 = 𝑥 + 2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

          …………… 𝑥 =
 

          …………… 𝑦 =
 

(5 marks) 

______________________________________________________________________________ 

✗2+6×+232=10

✗ 2+22+4×+4=10

2×2-14×+4=10

2×2+4×-6=0

✗2+2×-3=0

( set 3) (x - 1) = 0

✗ =-3

or x =L

when k= -3 when x=1

y= -3+2=-1 9=1+2--3

C- 3
,
- 1)

or ( 1,3 )

-3 ort

-1 or 3
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3. Solve the following simultaneous equations  

 

 𝑥2 + 3𝑦2 = 28 
  𝑦 = 𝑥 + 2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

          …………… 𝑥 =
 

          …………… 𝑦 =
 

(5 marks) 

______________________________________________________________________________ 

✗ 2+3 (✗ + 2) 2=28

✗ 2+3 (✗ 2+4>(1-4)--28

✗ 2-1 3×2+122+12 = 28

4×2 -112N - 16--0

✗ 2-1 3N - 4=0

( ✗ 1- 4) Cx-17=0

✗ = -4 or ✗=/

when x= -4 when x=l

9=-4+2 y= 1+2=3
= -2

= (-4 , -2 ) or ( 1. 3)

-4 ort

-2 or }
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4. Solve the following simultaneous equations  

 

 𝑥2 + 𝑦2 = 65 
  𝑥 − 𝑦 + 7 = 0 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

          …………… 𝑥 =
 

          …………… 𝑦 =
 

(5 marks) 

______________________________________________________________________________ 

✗ =y -7

(y - 7)2+92=65

92-149+49 ty2=65

292-149-16--0
g.
2-
7g - 8=0

( y - 8) (yn )
--0

yz8 or y
= -1

when y=8 when y=
- I

✗ = 8-7=1 ✗ = -1-7=-8

- ( I > 8) or ( -8 ,

- 1)

1 or -8

8 or -1
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5. Solve the following simultaneous equations  

 

 𝑥2 + 𝑦2 = 1 
  𝑥 − 𝑦 = 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

          …………… 𝑥 =
 

          …………… 𝑦 =
 

(5 marks) 

______________________________________________________________________________ 

I. =yt1

(y -1132+92=1

92+29+1+92=1

292+29--0
2y( lytl ) =0

9=0 or

y= -1

when y=o wherry = -1

✗ = 0+1
✗ = -1+1=0

=\

= ( 1,0 )
or ( o

,
- 1)

loro

0 or -1
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6. Solve the following simultaneous equations  

 

 𝑥2 + 2𝑦2 = 20 
  𝑥 = 𝑦 + 3 

 

Give your answers correct to 2 decimal places.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

          …………… 𝑥 =
 

          …………… 𝑦 =
 

(5 marks) 

______________________________________________________________________________ 

(yt 3) 2+292--20

y46yt9 +292--20

392+69-11=0

y=-6±FÉsÑ
213 )

= -6±Ñ
= -

6T• Y=-6T = 1.16

2
y = - 6¥68 = -3.16

when y
--1-16 when y= -3-16

✗ = 1.161-3 ✗ = -3-161-3

= 4-16 = -0-16

= (416,1-16)
4.16 or -0.16

or ( -0.16
,
-3.16 )

I -16 or -3.16
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7. Solve the following simultaneous equations  

 

 𝑥2 + 𝑦2 = 6 
  𝑦 = 3𝑥 − 4 

 

Give your answers correct to 2 decimal places.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

          …………… 𝑥 =
 

          …………… 𝑦 =
 

(5 marks) 

______________________________________________________________________________ 

✗
'

+ (3k- 4)
2
= 6

✗ 2+9×2- 24×+12=6

10×2-24×+6 = 0

5×2- 12kt 3 = 0

✗ = 12 ±FEI

ZCS )

= 12+-74-66
To

=12F
✗ = 12T¥ = 2.12

Is
x=12; = 0-28

when 2=2-12 when ✗ = 028

9=312.123-4 Y
--310^28 ) -4

= 2-36 = -3-16

:( 212,236 )
or ( 0.28

,
-3.16 )

2- 12 or 0.28

2-36 or -316
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8. Solve the following simultaneous equations  

 

 𝑥2 − 𝑦2 = 5. 25 
  2𝑥 + 3𝑦 = 4 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

          …………… 𝑥 =
 

          …………… 𝑦 =
 

(5 marks) 

______________________________________________________________________________ 

 

Zac = 4 -3g

x=↳

( 4-2-39 )? y 2=5-25

16 - 24 y
+ ay

2

-4
- y
'
= 5.25

I 6- 24g + 9y2 -4 y 2=21

592-24y - 5 = 0

( Sy -11 ) ( y
-5) = 0

y = -

§ or y = 5

when
y = -§

✗ = 4 1- 3- = 23

÷ To
= 2-3

when y = 5

✗ = 4¥ = -1=-55

= ( 2.3 , -0- 2)

2-3 or -5-5
% (-5-5,5)

- 0--2 or 5


